
Subtraction

Name:

© Studyladder

683 - 477 = 564 - 395 =9) 10)

Use the space to show your working

11)   
The population of small towns Minton and Oxfill are shown.
How many more people live in Minton than Oxfill?
Minton: 384        Oxfill: 296

12)

In 2015 a farm produced 503 crates of lettuces. In 2014 the farm 
produced 248 crates of lettuces. How many more crates of lettuces did 
the farm produce in 2015 than in 2014?

1) 2) 3) 4)

3- 5 5
4 7 8

2- 2 5
6 3 5

7- 2 4
8 9 6

8- 4 1
9 6 2

5) 6) 7) 8)

2- 5 5
4 5 2

2- 5 8
3 2 7

4- 4 9
7 3 8

4- 9 9
7 6 5


